E}&Zﬁz)t HW & Svhﬁbq

ek, =S, WS Bm o

i o2
AV (2:2—Vs) ,
FY: —— = . = jo pW
R R,
’/2.2" Ve -
R — _(ﬁ—_’/_,b)_ — d)
/| O pW

Trasisbr s ased at the Iammtﬂm/ﬁj‘
Vo= Ves =y = YK =Yy -V
\/n SVt Va =080t - 0] V

Moo | 1o | = ><\/<rs Vé> = K L..> <VCT Vs - \/Cf)
o )2 D
- 5~/V[$><0 04)3' D”g)(}& V),{)
, _ 20V fembie @ zﬂ [omw_
ABO IJDI’_' R — (gzw%g = 2.2V (2)
70 pW
° 2 @ i@)/ [1)3 :(lfb)
C Somp  Jouw
o /é&vwfbs) SSEA
Cet V=081V, 0 Vsl o Vs 2 0330V

_ - / |
Frem (O, R= ¢ 2= VS) QZZ*O()STS‘)Z

OMW -~ : ‘ = ZLBOé ki/-l

/Oﬂw




]5.‘26
CQ ) \/(%\5 :\/éf—{/é — On \/\5
Assume  Saturatien | 7 y
[Ips _ 75MAQ5) Q/\/q_ é) — _Z,:/Ki _ IDS

za/ OYs »/Dﬂg.(:)(\/\S "LZVSH%)
4ya

> = 2V | B8R %
: Hva  Hea ’2875‘/0 A

Jos= Ve Vo -sz><2g7§ 0g77 Y

2k
1\/05‘\ '>I\/cgs‘~—a}\/7f>\1
[V a4, So Sthuwhm s e

TMM@/ \/D — 0¢§77 V

~—




@ \/&5 =V¢ Vs = o-(-D=1V

Sﬁ)\m(@ \/DS )\/&5 "\/TV) | 1\@‘ C‘Q o 1“0{7)
- NMeS Ts T Seehuretion,

2 2
s — < ) < “\/Tv, = 2&0 ( )C [—0b)
= 48 MA
\Voo— -
Ry= P2 = Z— kQ, =R
Ki= I 3 4 é7 QA =2
.55 Ve=o=Vo | = V=53

Transister (S Saturated becmse dmin @ 3&06@ are o Wweda&/_

Ipa= %CVTY—> C \/Q”S ’\/’l’m 32 = %<10> (l/p@‘ -0 &)2

103: ,Q\i‘/‘\f ”\i#i =Ins — \/D \/ \/DS“ 1T~ QD\S-—-),]QS

0 M
los= ?leﬁdtﬂ (2..§~ Clpe =20 —0.5) :O

Then 9et. Tp= 19232 ph | or Jo= 42l 4t wh
Sine T4 1¢ Satwakion. Lp =192-3> pp

—

For Vo fo= lJ\/K\ﬁ

= /o= 25V = Ip( & va>

Vo = 28 - AP MO = [ SV



=54 V7= Vo4 8 ( J\?@;ﬁ\‘sa}‘\ - J\WF‘)
—ll‘l(p\: +Vopl = '\1\9\%\ + yu=Ver —Vsg= ('JPNF' + Vr- Ve )&— PN

b} 3
Nop - 86.17md  — Yps= 83617 nV
338 %E**
W Vo N o3 ({2feaves {205 )
Nro0.6V 40 iﬁkm ,{;) .
R = Vo=126y

( Marimom Vo) =Vda-Nr — Vr=2-V> Nt-0. 7%V



	1
	2
	3
	4



